North Displacement, mm East Displacement, mm

Up Displacement, mm

HUNT

L L | L L L | L L L
7= 063.7/ MNSs = 1.5 d{
195 1 T=1.5d _1_ys
100 -
75 - -
50 - -
25 -
53 mon 10daY gy 400 4y 10mig;, 3mitd Min 4 pp 4004 oy 10day 354,
0 Y O M [
-6 -4 -2 0 2 4 6
. . . | . . . | . . . | . . . | . . . | . . .
125 ] = 3.7 mns 7= 2.8 days
100 -
75 -
50 - :
25 -
1 3mon 1098y qgay 400 4 10 Mg, 3mifd min 4 pp 400 4 4, 10day 3mon [
0 Sy Y N R Y [
-6 -4 -2 0 2 4 6
| L L L | L L L | L L | . L L | L L L |
1=370.5mns , = 1=6.1yfs
1 3mon 1098y qgay 40" 4 10 Mg, 3mid Min 4 py 4004 gqy 10day 30, [
0 Y Y S s

-6 -4 -2 0 2 4 6
-6 - Log (Teqt, yr) 6 + Log (t-Teg, Y1)



